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QUESTION 1

Identify three statements about defining actions in Oracle Alert. (Choose three)

A. An alert can contain only one action set

B. An alert can contain number of action sets

C. When multiple actions are defined they must be included in an Action Set.

D. Oracle alert waits for user response before executing next action in action set

E. When multiple action are defined they do not need to be included in an action set

F. Oracle Alerts does not wait for user response before executing next action in action set.

Correct Answer: BCF

QUESTION 2

An order has five lines with line status of Staged/Pick Confirmed.

There is no record on the Delivery tab in the Shipping Transaction form for this order.
What could be the possible resolution?

A. Resolve the shipping exception.

B. Enable shipping privilege for the user.

C. Autocreate delivery from the Pick Release form.

D. Autocreate delivery from the Delivery Transaction form.

E. Autocreate delivery from the Shipping Transaction form.

Correct Answer: E

QUESTION 3

Customer acceptance is applicable for which four order types or models. (Choose four) A. Kits
B. Returns

C. Internal orders

D. Retro bill orders

E. ATO/PTO models

F. Standard orders with service items
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G. Standard orders with standard items

Correct Answer: AEFG

QUESTION 4

You are reviewing the Oracle Internal Sales Order process functionality with the logistics manager of XYZ Corporation.
Which two statements are true regarding the features of internal sales order process? (Choose two.)

A. An Internal Sales Order can be created manually.

B. An Internal Sales Order creates an Accounts Receivable invoice.

C. An Internal Sales Order does not generate an Accounts Receivable invoice.

D. An internal sales order can be created in an operating unit different from that of the internal requisition.

E. An internal sales order can be generated only in the same operating unit where the internal requisition is created.

Correct Answer: CD

QUESTION 5

Exhibit

O Joumnals (TEST_SO0B)- Test 02 23-FEB-2006 02:48:45

Journal Test02 Conversion
Period Mar05 Effective Date 31-MAR-2005 Currency INR
Category Adjustment Source Manual Date 31-MAR
Balance Type Actual Budget Type User

o erations Accounting Flex
g

Company 29 - Vision Czech Republic

cl Department 402 CED, Kurt Elkins
Account 4519 MNSF Fee m
) Sub-Account 2103 California 2
Line Ac | Please choose an existing combination.
Product 240 Modem J)
( ------------ - "
...... 0K ) ([Detais..)
oK Cancel Jjn;rlp

View the exhibit while entering a journal in Journal form, you enter a code combination of
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29.402.4519.2103.240 in the five-segment Accounting Flexfield. However you are unable to proceed after entering this
account combination.

What could be problem in the structure definition of accounting Flexfield?
A. The "Freeze Rollup Groups" check box is selected

B. The "Allow Dynamic Inserts" check box is deselected

C. The "Freeze Flexfield definition" check box is selected

D. The "Cross Validate Segment" check box is selected

Correct Answer: B
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